
Year 6 Worksheet 7 - Exponents

Question 1: Evaluate the following.

22

       = 2 × 2
       = 4

32 23

24 52 72

103 43 34

02 15 62

92 82 112
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Question 2: Evaluate the following.

2−3

= 1

23 = 1
8

20 3−1

10−3 5−2 10

2−4 1−3 1000

3−2 1−5 9−2

3−3 4−3 7−2
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Question 3: Evaluate the following.

32 + 23

     = 9 + 8
     = 17

54 − 42 23 × 21

60 × 72 91 + 100
(22)

3

(− 4)0 × 62 34 ÷ 32 (− 5)2

33 + 42 83 ÷ 81 72 − 2

(− 6)0 × 82
(22)

−3 93 ÷ 91
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Question 4: Solve for x.

1 23 + 𝑥 = 17

2 5 − 2−3 = 𝑥

3 |4𝑥| = 12

4 8
𝑥 = 1

5 32 − 2𝑥 = 7
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6 − 6𝑥 + (− 2)1 = 10

7 |2−3𝑥| = 1

8 30 + 𝑥 = 2

9 5𝑥2 − 25 = 100

10 |4𝑥2| = 36
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Answer Key

Question 1: Evaluate the following.

= 422 = 932 = 823

= 1624 = 2552 = 4972

= 1000103 = 6443 = 8134

= 002 = 115 = 3662

= 8192 = 6482 = 121112
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Question 2: Evaluate the following.

= 1/82−3 = 120 = 1/33−1

= 1/100010−3 = 1/255−2 = 110

= 1/162−4 = 11−3 = 11000

= 1/93−2 = 11−5 = 1/819−2

= 1/273−3 = 1/644−3 = 1/497−2
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Question 3: Evaluate the following.

= 1732 + 23 = 60954 − 42 = 1623 × 21

= 4960 × 72 = 1091 + 100
= 64(22)

3

= 36(− 4)0 × 62 =934 ÷ 32 =25(− 5)2

= 4333 + 42 =6483 ÷ 81 = 4772 − 2

=64(− 6)0 × 82
=1/64(22)

−3 =8193 ÷ 91
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Question 4: Solve for x.

1 Answer: x=17−8=9

2 Answer: x= 39/8

3 Answer: x=+/-3

4 Answer: x=8

5 Answer: x=1

6 Answer: x=-2

7 Answer: x=+/-8

8 Answer: x=1

9 Answer: x=5

10 Answer: x=+/- 3
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